


The revenue of a shop in the
month of March was Rs. 40,000. In
the month of April, the shopkeeper
announced a discount of 20% and
hence his sales went up by 20%.
What will be the revenue (in Rs) in
the month of April?

qrd & WEM H Ud gl Bl IIoid
40,000 . oT| 3JI¥dA & HEH H,
GPHFER A 20% DI BT B HINUT Bl
IR guafoy saa) fah 20% @ gfs
g3l WA d WEH H Uord (5. H)
fa=m gim?

(a) 40,000  (b) 19,200

|_Ior38,400 () 76,800




. On an item with marked price of
Rs. 45,000, cash discount of 8% was
offered. After giving an additional
season’s discount the item is sold at

b“ b' 0 Rs. 37,260. How much was the
- \0/ . q " s discount (in percentage)?
00 5,000 938 & 3fdbd Jeu arell 9%

WR 8% dI ddhG BT Bl UAHI Bl T
off | arfafRw #iaH Bc e & dIcC

GJUA.QQ(&WM a%] &l 37,260 ¥YY # 49 Wl ? |

gl ge (afdera ) feah of?

(/mﬁ (b) 11

(c) 12 (d) 14
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(c) 480

A-

(b) 360
(d) 120

A top is in the form of a cone
placed on a hemisphere, such tht

the “yadius of the cone and the
hemisphere are the same. The

height of the cone part is 8 cm and
slant height is 10 cm. If this solid is

melted and cast into a cylinder of
the same height as that of the top,
and the volume of the cylinder is K
n cc, then the value of K is:

Uh ¥dH @ PR &1 WH P
JefMel R 39 YR @l & b, g
R dmad @ Bsur R 2
YFEMIBIR HAT I $Hdi3 8 IqHl AR
firfe $a 10 9 2| afs g9 siv
&l Ugerar Ml & FaR SHaE @

4991 H Il WTdl B AR AT Bl

AT K 94 AHl 8, df K &1 "+
fa=m 22




A man covers three-fifth of his 400
km long journey by bus at 50 km/h,
the next nine-tenth of the
remaining journey by scooter at 24
km/h, and he cycles the remaining
distance at 16 km/h. If he takes a
break of 30 minutes after travelling
by bus, what is his average speed (in

km/h, to the Wber)

for the entire journey?

Udh Afh 39T 400 fbHdl ad Ir=aT &1
3/5d1 fe&dT 99 gRT 50 f&Hl/9er
@ ard 9 99 &Ydl ©, 39 AT Bl
9/10al @& WhHeY ERT 24
foift /eier @ ard @ dg dRar o



IR 98 AN & $I wgfdd gRT 16
fody /8er @) ard | d Pl e |
gf¢ 98 99 ¥ IET o b 916 30
fre &1 favm oar @, af ¢ a=r @
fore Sa®! ditaa qara (fe+ /e 4,
frpean qui wem #) feadr 27

(a) 36 (b) 30

ZQ - \}M( (d) 27
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A sold an article to B at 25% pr_c_u__fit
and B sold it to C at 15% loss. If C
paid Rs. 1,785 for the article, how

lel} much did A pay for it (in Rs.)?
@_7 gs A, B & (o & 25% oM WX d9dl
0 2 3R B 38 C BT 15% @Y W
W’Gb el 4 ¢ 7 axg @ ferg 1,785 vud
&1 a foar &, @ A 3 gue foy
faen A (%, #) o 2?
@ (a) 2100 (b) 1560
.ﬁ_ugyrsso (d) 1960

I\W_&)&




A bought a piece of land for
0, JHe sold one-fifth of

the Iand at a loss of 10%. To earn a
profit of 50% on the whole land, at

what gain percentage should he sell
the remaining land?

Udh afth 7 2,00,000 $UF A HH BT
Ud ¢hel @XIer| 99+ g &1 urda
9T 10% @1 B W) 49 faar) qf
H WR 50% &1 &M Afdd dE D
fay S€ oy qff1 &1 fHa wfoea
AT UR 491 91fRg?

(a) 48% (b) 55%

(C) 63% 01:[?{5“/0




If a and b (b > 1) are whole

numbers such that a® = 144, then
the value of (a - l@s:

[ - o
gfe b(b > 1) qoi H&AY 39

2— g fd ab = 144 B, @ (a-1)p + 1

&1 911 2
(a) 144 (b) 121

hﬂ/}nfTﬁSl (d) 1




It takes two pipes X and Y,
running together, to fill a tank in 10
minutes. It takes X 15 minutes less

than Y to fill the tank. What will be
the time taken by Y alone to fill the

tank?

Uh cdl &l 10 fiFe d§ w=14 @ fov
gl U139 X 3R Y Ud 91 I rd
g Ife X €@l & WA H Y ¥ 15
e &9 9wg ddr 21 9 Y g
bal cdl bl WA H foram AT 9wy
fopa=r g1?

(a) 20 minutes (b) 35 minutes

¢) 30 minutes)(d) 25 minutes




. It takes two pipes X and Y,

running together, to fill a tank in 10
minutes. It takes X 15 minutes less

than Y to fill the tank. What will be
the time taken by Y alone to fill the
Q‘\M tank?

WWM“ Uh cdl &l 10 fFe 4 11 & forv
gl U139 X 3R Y U 91 IdIC Td
gl dfe X B &l W14 H Y ¥ 15
e &9 9wg ddar 21 9 Y g
bel cdl bl WX A forar AT 9HY

\(_.5 3% | 7"'55" fea glm?
x-—j h— 332 m 20 minutes (b) 35 minutes

30 minutes)(d) 25 minutes



A tank 10 ft. by 5 ft. by 4 ft. has a

‘ {'tf" Ru;g(}’isupply pipe pouring in 526 in® of

?_,,gmﬂter in a minute and an exhaust

(ng/min

Net — S wiman

o [oc0riputiss.
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Py

pipe emptying it in 5 hours. If the
tank is full and bothpipes are open,
how many hours will it take to
empty it?

10 BIC X 5BIC X 4B D U b
i @ amyfd uizy e fire 9696
sd Ul Siddr @ 3R Us e
wgqsﬁ5aéﬁ@ﬁﬁ <dl B |
gfe ¢ W gam 2 3N QA uigy

ol 2, d 3 @refl A A fba

Hc o’ ]
(a) 12 hours (b) 8 hours )

(c) 6 hours “_{&j"10 hours




A cone of height 15 cm and base
diameter 30 cm is carved out of a

wooden sphefpgof radius 15 cm. The
percentage of wasted wood is:

15 9t 311 @ dd<l @ Mo 9 15

qfl $arg AR 30 @ JER @rE
B U Udh I T 8| IBR

ddel &1 yfaera «r 27
75 (b) 0.71
S (c) 0.72 (d) 0.7

JE Tk



In an election of three candidates
X, Y and Z, X gets 27,720 more
votes than Y. X also defeats Z by
65340 votes. If the total number of

votes on the voting list is 3,00,000
X,f.lf_’,z____'c?gmand only 66% voters show up for

polling, what percentage of the total
polled votes are secured by Z if
there are no invalid votes?

i Seflqart X, Y 3R 2 & 9@

¥, X &l Y& 27,720 31fa 7q e |

X 1 Hl Zz B 65,340 Hdl ¥ AT

afe wacE gAt 4 wagEaRl @ dd

Q &1 3,00,000 2 3R Hdd 66%

Ad<ldl Ade & fev Suferd sid 2,

M 16 d &e #waqrE #al &1 fean yfioera

(d) 42 z &I fer afe sz =g #d <31
87




A man mixes two salt solutions of
different concentrations. He takes 8
litres of the first solution with 25%
water in it and 12 litres of the
second solution which contains 40%
water in it. What is the percentage
of water in the final solution?

Ueh 3IreHl fafr=1 wigar @ < W
faorgi @ femar 21 98 uEd
e &1 8 ofley oar g forad 25%
ol Blal = 3R gER fdeads &1 12
oflex ofar 8 forad 40% ool 8lan 2 |
ifom faeas # wia &1 ufaera @
8°

(a) 33% (b) 31%

eI 34% (d) 35%
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Jeffrey needs to buy petrol for his

car. His car can hol( |
6201

petrol. There are alrea
petrol in the tank. Jeffrey is going
to fill up the petrol tank. The price
of petrol is Rs. 114 per litre. Jeffrey
has a voucher that gives him 3% off
the price of petrol per litre. How
much does Jeffrey have to pay for
the petrol approximately?

W B AT BR b fav dgid
GG B OTwYd 2 | S R H 80
offler Ugld 9RT O 9abdl 8| ¢d A
g 9 @ 20 offleX uglid 2| 9w




Ueld ¢ 9X1 Wl &8l & Ucld &l
1T 114 398 Ufd ofiecx 2| 9Bl @
U U i8] & ol 99 ufd oflex
Ugld @ od W 3% @ BT qdl 2|
Wl &I UTld @& foIg o fedr
HIAH BT ISl 2?2

(a) Rs. 6,653 4] Rs. 6,635

#

(c) Rs. 6,637 (d) Rs. 6,660
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(d) 90

Sections A, B and C of Class 10 in
a school, have 25, 20 and 15
students, respectively. In an
examination, the average marks of
Section A students is 90%, that of
Section B students is 84%, and that
of Section C students is 95%. What
is the average score (to the nearest

whole number) of Class 10?

—T Taeicld & $&T 10 © E< A B

IR C # HHI: 25, 20 IR 15
faemeff €1 v wdem ¥, @s A @
faenfray @ 3itud 3id 90% B, We
B & faenf3ral @ 3itvd 3id 84% 2,
IR g1 ¢ & faenferat @« 3itga 3@
95% B H&T 10 @ 3IGd b
(FMrecaq qul w=am a&) fead 2?2



A person bought a certain number
‘ of bananas at Rs. 135 per dozen.
She sold 50% of these bananas at
Rs. 14 each. At what approximate
price (in Rs.) per banana, should she
sells the remaining bananas to get
@ an overall profit of 229%?7?

g1 | U Aaftp 4 135 94 Hfd o4 @
801 X ¥ o FilR=a veur § ad wdT |
|3 Y¢S 991 3 ¥ 50% B 14 IW

_%-—-L UAP Bl X W dd| 22% BT f@e

AT UTwd B b fov, 99 9N Bdl

\&l ufd dd & fha AT o
(F9d #) Ux 49+ Arfey?
13.45 (b) 15.1
(c) 12.5 (d) 14.25



What is the value of x is 3*1 + 3**!
= 24307

-‘-’Tﬁ 3x-1 4+ 3x+1 = 2430 %_ dd x DI
qT9 T BIT?

SN R

VAR X =

@)“’



9) In a town, 30% were children,
=5 ld.ﬂ ile 45% were men. 25000 women
W e there at some time. In g;e next
S/years, 10% men and 5% women

ecame old and dead/ whereas 6% of
children were grown as men and 4%

of children were grown as women,
mm and 1000 children were adde
.- N list. The present population of the
TOMA, 23?{‘0 town is:
e — ————t .
_Tlao | R0 \& N\D TS BE d 30% dwd o, Wafd 45%
gy o | fedl wHg g8 25000

’W H%m:'haﬁl 3T 5 maﬁj 10:;
gou 5% Hfgelly 21 qd
—S450 (T(\ml QMLAW oafd 6% aed YOHl & ®U A
+ [N — a3 gV IR 4% ahau ARami @
— Y332 (a) 92550 (b) 95520 w4 # <1 g& 3 1000 Feal Bl
et @ gl # SISt A1 WwER DI gd
5250\ (d) 95025 oo



y(a] 63000 \
>(;:] 65000 {t) 65550 _

Three candidates P, Q, R
participated in election. P gets 30%
votes more than Q. R gets 10% more
than Q. P also overtakes R by 3000
votes. If 80% voters voted, then
what is the number of voters in the
voting list?
= S=ficart P, Q, R 1 Us g-i1d #
qT fo™aT| P &1 Q 9 30% 3ifS& #d
O 8ld 21 R @1 Q 9 10% 31fd®
qd W<l &id 8 | P, R &1 3000 Hdl
4 usrse #HI qar 2| Al 80%
EREAGIE AT ﬁiﬂn dal HAGTT
qt ¥ FaTge




(a) Rs. 125 | _g) Rs. 120

Damini purchased an item costing
Rs. 7,500 and paid Rs. 3,500 as a
down payment for the same. If the
simple interest charged for the
remaining amount is 9% per annum
and Damini cleared all dues after 4
months of the purchase, how much

did Damini pay after 4 months as
interest?

<t 4 7,500 ¥Ud HA drefl Uad
arg @ddl ik swe fay afiw
YA b w9 H 3,500 ©Ud Bl
HquarE fear) afe ow ¥ & fag
feram T ARy ST 9% ufaad @
R it 4 @le @ 4 91 B 91
gt oy ¥y &1 qras fean,
ST < 4 W8I @ 9IS &G1o & WU

(c)Rs. 132 (d)Rs. 100 3 fpqey spwram fasa?
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(a) 1,25,000

(et 1,50,000

(b) 1,27,500
(d) Rs. 1,42,500

In an election of three candidates
P, Q and R, R gets 80% more votes
than Q, R also defeats P by 48,450
votes. If Q gets 87.5% more votes
than P, what is the total number of
voters on the voting list if only 85%
voters show up for polling and there
were no invalid votes?

d< Seflcarl P, Q IR R & U
g9 H, R ®l Q ¥ 80% 3f¥$ #Hd
flid 21 R, P &I 48,450 #Hal 9
gxdar HY g1 Ife Q & P ¥ 87.5%
3fere wd urwd gid ©, df Ad<rdr g4l
H AacEaRl &1 dd &I @& 8 afQ
®dd 85% HAGIdl ¥Hdald @ oIy

SufRRera gld @ 3 dis Jdg Ad A&l
9}?

(a) 1,25,000 (b) 1,27,500
(c) 1,50,000 (d) Rs. 1,42,500




(a) 8 : 13
(c) 13: 8

)41 : 71
(d) 71 : 41

Two powdered mixtures M and N
are prepared by mixing salt and
sugar in the ratio of 5 : 9 and 11 :
17, respectively. A third powder P is

prepared by taking % quantity of M

and %quantity of N. What would be

the ratio of salt and sugar in P?

T9d 3R A B HHI: 5 : 9 IR
11 : 17 & 3urd d fAarex <
gresy fA%or M 3R N 3IR fed wrd

I M aﬁ%wﬁqnaﬁ%w
ddY T oGl Urssy P dar faar

ol 2] P ® e 3R AT @
JFUTd T TP




Vinod was getting two offers on a

mobile phone having marked price

Rs. 12,000. Either two successive

: 9 discounts of 20% and % each or

) q ve discounts of 15%

_

inod chose the better

ol Rt @ 12,000 TUd 3ifed Tou
drel #idTsel B9 U g 8Be fia <&l
off| aIr @ 20% 3R 10% &I <l
HAH BT AT YAD 15% I &l HiAD
ge | gfq faqie 4 dgax g g4,
dl 894 I AleEr & dedr H
fa- arfers qquaﬁ@ﬁ?@

(a) Rs. 40 T Rs. 30
(c) Rs. 25 (d) Rs. 20




(a) Rs. 48,000 (b) Rs. 50,000

A person received an invoice for
350,000 dated 31 August 2021 with
terms [5/15, nh\l—le paid the
whole amount on 8 September
2021. How much did he effectively
pay for the bill? [Note - The
condition [S/15, n/30] is read as the
person would get 5% discount if he
pays within the first 15 days of the
month.]

Ush Ifth @l 50,000 U &I ATl
31 3IFTE 2021 Bl [5/15, n/30] Tl
& Wi Ui 83T SE4d 8 RydeR
2021 &I QI AR HT WA BN
fear) su+ f9a @ fag yardl w9 &
foam Hmas fear? (fewefi — wrd
[5/15, n/30] dATET &l 8, fo afe
ke gRT 9819 & UYsd 15 fe-if &
Hiar HraE fear smar 2, dl 5% a1

(c) Rs. 49,000 ¥ Rs. 47,500 g fran |)



IfA =

1°+3°+5°-6" -7 +8°-9°+10° +11°

57 +4% + 6 -
H ’U-||-\-|‘§+|?+|7—':2 bR N 5.0
— 7 8 8 9 9 7 then the value of
__7'} 1:(1:-:1
7 8 9

B-_:_, Q l % is:
‘)_L! (a) 10 (b) 18

-;-Q——-—'\Q\ (c) 26 \,(4)/12



A cylinder of radius 6 cm and
height 128 cm is sliced across one
of its dimaeters and the two parts
are cast into a sphere and a cone. If
the height of the cone formed is 48
cm, the sum of the radii of the cone
and the sphere is:

6 It BB=ar 3 128 9H SArs 9rdd
Udh do ®l 59D Udb O 9 &I |
#§ HleT W[l & AR SIFT 90 B
U Mo AR b Wh H STl Wrdl
g | afe 91 o) ) Sdars 48 94 2,
dl o 3R M & HrsaEn &1 g
T 57

(a) 20 cm \Jb]écm

(c) 12 cm (d) 36 cm
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007/ — |60

(a) 6400 16000

The pgsitive difference between
the interests payable when a sum is

invested for a year at the rate of
10% interest per annum, and the

—

same sum being invested for a year

at the rate af _10%_ interest per
annum, but now compounded half-
yearly, is Rs. 40. Find the sum

invested.

o] Udh R &1 Uh a8 & folv 10%
9l ufaad & ) 9 fawr fean
ordr 2, iR Sl ¥ &t th 99 @
foIT 10% =gror ufas @) v 9 a9
fear wrmar 2, <dfea a9 <O
Jd—arfie ®u 9 gIifoa fear T

e b 49 U A B YIRIHD
JdX 40 vUd v | a9 @1 g Al

(c) 1600 (d) 160000 grq g |



In an election between two
candidates, 8% the voters did not

cast their vote. Also, ":i()%) of the
votes polled were found invalid. The
successful person got 60% of the
valid votes and won by the majority
4140. The number of votes enrolled
in the voters list was:

<l SHflcarl @ 4= gu 919 4 8%
qagrdrRl A JUAT dic A8l STl |
g1 &1, STl MY 10% dic 3dY Ury
MY | 9%d ARh HI 60% A dic i
3R 98 4140 & «gqd 9 Sfiar|
aaerdal Al 7 ol drel &1 & of:
(a) 22000 (b) 26000

(c) 23000  \_{d}25000



38

(c) 56

(b) 60

An empty drum is to be filled using
buckets P and Q, where P has thrice
the capacity as that of Q. Bucket P
alone is required to be used for 64
turns to fill the empty drum. If both
buckets P and Q, are used at a time
to fill the empty drum, how many
turns it will take?

U Wlell §H @l dlec! P 3R Q &I
SUANT B AT 8, Olgl P B &HdAT
Q &I qar # fiF AT 8| Wrefl §H
&l A B felv 3rbd 9ol P &l 64
@l b U SYINT &A1 JaWD
o | afe el §9 & w1 @ fov e
g # QIFl dlecl P IR Q I
SUMT fHar war 8, df sud feaq

(d) SO0 Fgx o ?



What number should be subtracted
from x° + 6x2 - 8x + 14 if it is to be
perfectly divisible by x - 2?7

e x3 + 6x2-8x + 14 Hl x -2 9
qoia: fawrsg gm @ ol gad 9 @I
WY 9= "erg W 9rfeu?

(a) 15 (b) 25

(c) O k_/(dﬁo




2%~ 30 AN

Find the greatest number of 4
digits that is exactly divisible by

4 Bl Pl 9% WeH q91 AT W
aﬁ@\mzssﬁm:ﬁmmﬁl

1) 9867 ) 9869
x‘“’gﬁé ;‘9’9@3







